HEXAWARE

text have No negative marking and 3 sections -technical 35 questions in 30 mins-DCT, data structures,interrupts in 8085 etc..aptitude -30 questions in 30 mins ,C-20 questions in 15 mins-was quite easy some questions(not sectionwise) 

1  key constraints are .....for...

       (a)secondary key

       (b)primary key

        (c)foreign key                                                                                                                (d)...

2   If a sinusoidal signal of 1100Hz is flat top sampled at a rate of 1800Hz,& this signal is passed through

     an ideal LPF with cutoff 1KHZ,the o/p contains the following frequency components:

     (This question was repeated again in the same paper !!!)

          (a)only 800Hz 

          (b)...

          (c)...

          (d)...

3  TRAP is _____interrupt

       (a)synchronus 

       (b)asynchronus

       (c)hardware

       (d)...

4   When the instruction RST is executed, the control jumps to location:

         (a)0020

         (b)0024

         (c)0028

         (d)none of the above                                                                                                    

5   A memory cell in static Random Access Memory is made up of:

            (a)6 mos transistors---ans

            (b)1 mos transistor and 1 capacitor

            (c)4 mos transistors and 2 capacitors

            (d)... 

6  Worst case algorithm is meant for the case

          (a)when sometimes favourable

          (b)when worst unfavourable

          (c)...

          (d)... 

7 A semaphore with negative count n(s=n) has how many processes in the Q?

         (a)0

        (b)n

        (c)n+1

        (d)n-1 

8  If in a PCM system the no of bits used is increased from n to n+1,the signal-to-noise ratio

    improves by

          (a)3dB

          (b)6dB                                                                                                     

          (c)20ndB                                                                                                                           

          (d)24ndB 

9  2 trains of length 110m & 90 m travelling at 45kmph & 50 kmph respectively..when will they 

   pass each other?

      (a)144mins

     (b)102mins

     (c)..

     (d)... 

10  From a circular sheet of radius 10cm , 40% is cut off & from the remaining portion a cone  is constructed, what is the ratio of the radius of the cone to its height? 

11  If a vessel contains 56 litres of a mixture of milk & water in the ratio 3:2..what amount of water should be added to make the ratio 4:5? 

12  2 pipes fill a cistern in 12 mins,pipe A is 3 times faster than pipe b...if only pipe B has to fill the cistern ,how long will it take?

       (a)1hour

      (b)2hours

      (c)..

      (d).. 

13  #define ADD(X,Y) X+Y                                                                                                    

          main()

           {

            #undef ADD(X,Y);

            fun();

        }

         fun()

             {

             int y=ADD(3,2);

           printf("%d",y);

          }

      o/p?

     Runtime error(linker error): _add undefined in module 

14 Which of the following is illegal

          (a)void v;

          (b)void *v;

         (c)void **v;

        (d)all are legal 

15    #define int INTEGER/*line1*/

        #define INTEGER int/*line 2*/

        main()                                                                                                                              

          {

            INTEGER p=10;/*line 5*/

            printf("%d",p);

          }

      o/p?

          (a)compiler error at line 1

          (b)compiler error at line 2

          (c)compiler error at line 5

          (d)No error,prints 10

           ans:c 

16    main()

            {

            int counter=1;

            for(;;)

                  {

                   counter++;

                   if(counter>9)

                                   break;

                  } 

         }

       in the above program

        (a)error b'coz for should have parameters

        (b)error bcoz 2 semicolons in a for loop are invalid

        (c)no error,loop is executed once

         (d) no error ,loop is executed 10 times                                                                              

17)    main()

            {

             char str={'H','E','L','L','O','\0'}

             printf("%s/n",str+1);

         }

            o/p?

            (a)prints ELLO

            (b)prints HELLO

            (c)prints ILLO (i.e.'H' is incremented by 1)

            (d)... 

18 The average temperature for monday,wednesday,thursday was 46 o C.the average temperature for tuesday,wednesday,thursday,friday was 48(some no)..if temp on monday was 42 oC,what is the temperature on tuesday?

      (a)32

      (b)36

      (c)37

       (d)3.... 

19  The average marks of 12 students was found to be......(some no)...it was later found that  while entering the data , it had been entered as 74 instead of 50...and 20 instead of 24(nos are  not the same)...what is the correct average? 

20   If a lady bought a house & sold it at 25% more than what she had paid after 3 years,

        she has to pay 50%tax on the gain...If C is the cost price,(gain=s.P-c.p),what tax did she have to pay?

         (a)..

         (b)C/8                                                                                                                              

         (c)...

         (d)...                                                                                                              

21  Some no of men(given)..complete a work in (given) no of days...after (some no) of days .. some more(given no) men join them,they will finish the work in how many days? 

22 If a car travels from A to B at a speed of 'x' kmph & travels back from B to A at 4/5th the speed ,then the total distance travelled in terms of percentage of x is?

     (a)2400km

     (b)3600km

    (c)..

    (d)... 

(23)-(24)2 similar problems on a race..i.e.one travels at some speed gives a lead of some time or length to the other....kind of problem.. 

25 A question on malloc

       int *p;

       p=malloc(sizeof(int)*5);

      if malloc returned the address 1000;the value of p+1 is

          (a)1002

          (b)1004

          (c)...

          (d).....                                                                                                                   

26 A cascade amplifier is:

       (a)a common emitter stage followed by a common base stage

       (b)a common base followed by emitter follower

       (c)...

       (d)a common base stage followed by a common emitter stage 

27  A network has 7 nodes & 5 independent loops,the no of branches=?

        (a)11

         (b)14

         (c)..

         (d)... 

28  Many nodes transmit at the same time .....collision occurs...retransmit.....what is this called?

      (a)

      (b)

       (c)collision.....enforcement

       (d) 

29 If the characteristic impedance of a transmission line is 50ohms,at 1 end the impedance is

      +j50 ohms,the VSWR =?

      (a)0

      (b)infinity

       (c)+j

        (d)+1 

30 Minimum no of NAND gates required to realize the boolean eqn: Z=ABC?

       (a)4

        (b)6

        (c)..

        (d)....                                                                                                                 

32  fun()

        {

         int counter=1;

         counter++;

         if(counter>10)

         fun();

         }...(some program similar to this one).

          the program will be executed infinetely--ans 

33  Which of these are legal?

           i.a pointer to a function

           ii.a pointer to a structure

           ii.pointer to union

                 (a)i only

                 (b)i and ii                                                                                               

                 (c)i,ii &iii

                 (d)ii &iii 

34 Union..

         {

           int ivalue;

           char lvalue;

           struct boo

                   {

                     int ivalue;

                     char lvalue;

                     }databook;

        };

           (a)error as struct within union is not allowed

            (b)error as struct members have same name as union members

            (c)...

            (d)..... 

35  How many stacks are there in DOS?

          (a)1 stack

          (b)2 stacks

          (c)3 stacks

           (d)... 

36  What is the o/p?

          main()

             {

               char arr[5]={'a','a','b','c','d','e'};

               printf("%s",arr);

               }                                                                                                                        

Which one is called family tree 

virtual function and overloading 

DHCP protocol 

order of insertion and Heap sort                                          

left recursion 

 find output: for(l=1;a<=l;a++)

cout<<++a; cout <<a; 

DEBUG trigger (oracle) 

In unrestricted session which system privilege mode is used (oracle) 

NEXTVAL and CURRENTVAL in sequence (Oracle) 

Unix system call ……like Var( ) 

OS 384 support which memory management 

     Complexity to access name from the given double link list 

Which WAN network is suitable for the 100Km or m. distance network 

If duplicate segments , file are there in hardisk which is best for management

a) FAT

b) SAT 

stop n wait protocol is associated with which layer 

find errors from the c and c++ codes. 

3 qns on operating systems. I qn on dijkestra algorithm                         

Using which pin it's possible to address 16 bit addresses even though there re only 8 address bits in 8085? Ans: ALE 

Voltage gain for an amplifier is 100 while it is operating at 10 volts. What is the O/P voltage wen i/p is 1 volt 

Quality factor indicates a) Quality of inductor b) quality of capacitor c) both 

Qns related to bridges, routers and generators, which OSI layer they corresspond to. (Refer to stevens 4th chapter) 

OPAmp's I/P ciurrent, O/p current and CMRR is given, what is the voltage gain 

2-3 qns on scope of static variables in C. Qn to view o/p odf a C static var 

Qn to print a value of a pointer 

OPAmp's I/P ciurrent, O/p current and CMRR is given, what is the voltage gain 

A qn to find the physical address from a given virtual address, virtual to physical address table was provided 

6 bit mantissa and 8 bit exponent can present what maximum value? 

4 bit window size in sliding window protocol, how many acknowledements can be held? 

Security functionality is provided by which layer of OSI 

Frequency spectrums for AM, FM and PM (figure given, u'veto tell which Kind of modulation it belongs to) 

Among AM and FM which is better and why? 

LASt stage of TTL NAND gate is called: Ans: Totem Pole Amplifie 

SR to JK flip flop conversion. Ans: S=JQ', R=KQ 

LSB of a shift register is connected to its MSB, what is formed: Ans: RING Counter 

2-3 Qns based on Demorgan's laws (identiies: (A+b)' = A'b', etc)  

2 qns on Logic gates (O/p of logic gates) 

Diff in IRET and RET statements of 8086                          

How many address bytes are required to address an array of memory chips (4 * 6), each chip having 4 memory bits and 8k registers. 

Diff. in memory mapped and I/P O/P mapped Input/Output (Refer a book on Microprocessor) 

Qn on pipeline architecture 

QN on LAPB protocol

What is weak typing.

What is pure virtual function.

Which is not a member of unix shell.  (rbash,cbash,nbash,kbash,gbash)

Which is an error.

   Int *p[3]

   Int (*p)[3]

   (Int *)(int ,int)

   Int (*p[3])

   Int *(p[3])

Which is not a processor.

   (intel,duran,Celeron,athelon)

 a[5]=={1,2,3,4,5}

  printf("%d",a[3]);

  printf("%d",3[a]);

  printf("%d",*(a+3);

what is the output.

if(r= =5!= =4)

printf("inside");

else

printf("outside");

printf("%d",r);

for(i=0,j=0;i<10,j<10;i++,j+);

 printf("%d",j);  (compilation error,run time error,0)

Which is not an inter process communication.

 (tee,shared memory,pipe,queue,file)

for loop on string.

Which is not a database.

 (oracle,smalltalk,db2,Sybase)

#define prod((a>b)?a*a:b*b)

 int p==0,q==-1;

 prod(p++,q++)

 what is result.

what is reference.

Some loop statements on "c" are given which are very easy. 

FLOP is the unit of –     I)clock speed,      ii)frequency….i         ii)memory,      iv)processors speed.

main()

{

  printf("hello");

  main();

 }

how many times it will print?

complexity of heap sort(ans:o(nlogn).

what will be the o/p?

int main()

  {

      char a,b;

      printf(“%d%d%d%d”,sizeof(‘A’), sizeof(‘NULL’), sizeof(‘a’), sizeof(main));

}

necessity of pairty bit(ans:b).

>what is the o/p?

#DEFINE xyz(exr)printf(“exr=%d”,exr)

main()

{

 int x=3;y=2;

 xyz(x/y);

}

simple question on graph

simple question on sql

files r there of size like 26543b,2000b,4000b,1000b  arrange them according to there access time

heap-sorting algorithm time complexity.(ans nlogn) 

white-box testing. 

postfix evaluation of: (A+B)*C(Ans: AB+C*) 

question on catch-throw? c++ 

main(){

main();

}

ans.stack overflow.

24.main()

{ char a,b;

printf("%d%d%d%d",sizeof('a');

sizeof(NULL),sizeof(b),sizeof(main));

}

Ans(1,1,1,2) 

Five file sizes given . what should be the order of their access so that least time is taken.

ans.least size first. 

SQL query does what? 

what does vector processing do? 

What is the use of software configuration management? 

what command is used to append two files using who that is listed by ls 

If there is a problem in a network during transmission which is used to detect that?

a. protocol anaylzer,  b. SNMP.... 

In C, x-=y+1 how will u represent it..

a.  x=x+y+1,   b.-x-y-1,   c.-x+y+1... 

What does Trigger do? 

In which topology we use less amount of cables.

  ring,   bus,   star,  mesh.... 

Which sorting techniques is best for already sorted array...?.

  ans: bubble sort 

Which is said to be a realtime system.?

1. credit card systen

2 online flight reservation system

3 bridge control systen...not sure 

decimal to octal conversion problem?  ans A 

A person having a/c number, a/c name,bank name, a/c type.. which is the primary among the above? 

why data integrity is used? 

If a primary key is an attribute of another one table means........

1 candidate key

2 foreign kryey

3 seconda 

int (*a)[4]. Explain this expression 

Difference between 0123 and 123 in c

ans : 40 

 In c r+ is used for 

1 read only

2 writing only

3 both 1 and 2 

parity bit for what?

YWCC is what in options they had specified  for compiler.. 

int i=10;

printf("%d%d%d",i,i++,++i);

ans: compiler dependent      

printf("Enter two values a and b:"):

scanf("%d%d",a,b);

printf("%d+%d=%d",a,b,a+b);

ans:core dumped 

question on WM_SIZE

ans:WM_SIZE 

 when destroy window what message would disply

ans:WM_DESTROY 

S Windows 3.1 about multitasking 

ans:nonpreemptive 

windows 3.1 is

ans:application 

about switch switch statement

ans:16,21 

question paper the first question ans is

ans:can't be compiled 

about send messages and post messages

ans: c 

what is the command to intiate the windows

ans:WinMain 

const char *

char * const

What is the differnce between the above tow?. 

In Unix inter process communication take place using?. 

What are the files in /etc directory?. 

About i-node numbers 

Max relaxable permisssion value with out giving write permission to others? 

About ln(linking)  

A question on until

 until (who |grep mary)

do

  sleep(60)

done 

Linking across directories?. 

process id for kernell process 

very first process created by kernell 

function to repaint a window immediately?. 

Function entry for DLL in win3.1 

win 3.1 supports which type of multi tasking?. 

Message displayed when a window is destroyed 

About fork()? 

About send message and post message 

Message to limit the size of window 

System call executable binary file intoa process 

About GDI object?. 

API used to hide window 

Initialize contents of a dialog?. 
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